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PART-A - PART-A

Question No.1 Marks: 1.00
Bookmark
Who was appointed as the Chief Secretary of the Madhya Pradesh government on
March 24, 20207
24 A4, 2020 B! T YR WNER & I 949 & w0 & fHx Fged fovar mar

(A) O Avani Vaish (Chosen option)
3 o

(B) O Vijay Singh
faeg Rig

(C) O R. Parsuram

SR, IRYRMH
(D) O Igbal Singh Bains (Correct Answer)

gHard g 39

Question No.2 Marks: 1.00
Bookmark
Purushottam Dadheech who is a recipient of the Padma Shri Award 2020 is associated
with which one of the following fields?

7T g, S ORI 4t TRGR 2020 F Ui 6, Mafarad § 9 fag & J Jaiferg g2
(A) O Sports

TI-F4
(B) O Social Work

BIElSEEae]

(C) O Trade and Industry
TR SR ST

(D) O Art (Correct Answer) (Chosen option)
ol

Question No.3 Marks: 1.00
Bookmark

What is the name of the zero contact mobile doctor booth designed by Indian Railways
Coach Rehabilitation Workshop, Bhopal?

R XT3 S P GAII SR, HUTe gRT FSSIE fht U I U HaRd SiaeR
Y T AT 18?2
(A) O DOORI

(B) O NISCHAY
Ay

(C) O CHARAK (Correct Answer) (Chosen option)
WP
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UH

Marks: 1.00
Bookmark

Guru Shikhar Peak, which is the highest point of the Aravalli Range, is situated in which
of the following states of India?

%aﬁg@vaﬁﬁ,ﬁﬁ&ma?ﬂuﬁanmmﬂaﬁﬁg%,W%ﬁmﬁﬁmwﬁ
?
(A) O Himachal Pradesh

Question No.4

(B) O Rajasthan (Correct Answer) (Chosen option)
ST

(C) O Haryana

(D) O Punjab
ENIE|

Marks: 1.00
Bookmark

Question No.5

Prime Minister Narendra Modi released a coin of Rs. 75 on October 16, 2020 to mark
the 75th anniversary of which of the following organizations?

YT TRs A §RT 16 Sa¢aR, 2020 HI 75 ¥U o1 gt HafoRed & @ forg dmea
DT 75 df UG o TR WR ST foalT TRIT?
(A) O National Housing Bank
I 1A o
(B) O Telecom Regulatory Authority of India (Chosen option)
YR gRYaR fafame unfereror
(C) O National Bank for Agriculture and Rural Development
IS P SR grdio] s o
(D) O Food and Agriculture Organization (Correct Answer)

QT 3R HY e+

Marks: 1.00
Bookmark

Question No.6

Which titular Queen of Bhopal passed away in January 20207
ARt 2020 § HIUTE Bi fob g feeer a1 feger It &1 (e g1 mar?
(A) O Gayatri Devi

QICE]l

(B) O Trishika Kumari Devi (Chosen option)
ARrar ot <at
(C) O Saleha Sultan (Correct Answer)

o[
(D) O Pramoda Devi

Marks: 1.00
Bookmark

Narmada Mahotsav 2020 was organized at which one of the following places in Madhya
Pradesh?

Question No.7
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(A) O Ujjain (Chosen option)
IooT

(B) O Dhar
YR

(C) O Katni
Hel

(D) O Amarkantak (Correct Answer)
HIDHCH

Question No.8 Marks: 1.00

Bookmark
Which of the following was the first fort built by the British in India?

HRA § SISl gRT SR T Ygdl e afaRad & 4 o uT?
(A) O Fort St. George (Correct Answer)

T ST fraT (Wi He siiol)
(B) O Thalassery Fort (Chosen option)

YT} BT far

(C) O Mahim Fort

(D) O Sewri Fort
Had foer

Question No.9 Marks: 1.00

Bookmark
Which of the following places is served as the Hall of Public Audience for the Begums of
Bhopal?
HIITet &1 Sl o e 9 3 ¥ fore ®IF &1 81d 31T Ufetiep Siifed™ & U H TRgd foha
ST 7
(A) O Moti Masijid (Chosen option)
il AfeTe

(B) O Gauhar Mahal
TeR Hed

(C) O Sadar Manzil (Correct Answer)
T

(D) O Taj-ul-Masiid
drel-3d-

Question No.10 Marks: 1.00

Bookmark
The river Betwa splits into seven channels known by which name in Orchha, Madhya
Pradesh?

i 99 J faUIiSra 9dar 76 & 78 U & 3RS H f5g 719 I ST i1t 82
(A) O Satnadi

(B) O Satdhara (Correct Answer) (Chosen option)
HAYURT

(C) O Satjal
Hasld

(D) O Satpura
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Question No.11 Marks: 1.00
Bookmark
The marble artistry of Bhedaghat is very popular and is located in , city of
Madhya Pradesh.
USTIIE B TR &1 HATHBG I S84 AT § 3R g AT U & TR
7 Ra gl
(A) O Indore

(B) O Jabalpur (Correct Answer) (Chosen option)

SIdegR
(C) O Gwalior
o]

(D) O Bhopal
T

Question No.12 Marks: 1.00
Bookmark

Plastic Premier League is a one of its kind tournament played to ban the use of single-
use plastic in which of the following places in Madhya Pradesh?

TR iR o, 99 Uew § (ufaRad # @ g RIF R UHd-SWR @ik &
IUGNT R Ufds TR 8 Dl ST ITell 30T TR BT U griie 87
(A) O [ndore (Correct Answer) (Chosen option)

(B) O Gwalior
TqTieRR

(C) O Ujjain
Ioo

(D) © Bhopal
HiaTe

Question No.13 Marks: 1.00
Bookmark
Pandit Ravi Shankar Shukla stadium is located at which of the following places in
Madhya Pradesh?
e Yex § FEfafad 3 3 g =M W ufsa fawier gea wfsad fa g2
(A) O Bhopal (Chosen option)
HIdre

(B) O Jabalpur (Correct Answer)

SIdeyR
(C) O Gwalior
TATeRR

(D) O lpdore

Question No.14 Marks: 1.00
Bookmark

Which of the following places in Madhya Pradesh is also known as 'Satpura Ki Rani' or
the 'Queen of Satpura?
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EIEIRCIRIEY
(A) O Bhedaghat
NSTYe

(B) O Mandsaur
HadR

() O Amar_kantak (Chosen option)
SRDCH

(D) O Pachmarhi (Correct Answer)
q

Question No.15 Marks: 1.00
Bookmark
Museum of natural wooden sculptures in Madhya Pradesh was started by which of the
following artists?

T UG H Uipidd dawst 3t Gidal o sugiad FyfaRad # 9 fog saieR grRi &
fopan T ur?
(A) O Madan Bhatnagar
Hed YR
(B) O Raghunath Phadke (Chosen option)
IYAY B
(C) O Munnalal Vishwakarma (Correct Answer)
garard faysat
(D) O Rudra Haniji
3% gAol

Question No.16 Marks: 1.00
Bookmark
Burhanpur is named after a Sufi saint Sheikh Burhanuddin Gharib. He was a disciple of
who among the following?

REAR P 719 TH ! Ud VW REMEIT TG P 7 W @1 T 8| 98 Fafifea #
g Ry 97

(A) O Akbar
HPR
(B) O Rudra Pratap (Chosen option)
FBeYdig
(C) O Shah Jwahan
RUGSHI
(D) O Hazrat Nizamuddin Aulia (Correct Answer)

TR AwgE T nferan

Question No.17 Marks: 1.00

Bookmark
TN T G B-
(A) O uig
(B) O d1d (Chosen option)

(C) O 33 (Correct Answer)
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(D)O =

Question No.18 Marks: 1.00
Bookmark
fafer &1 faam ss w1 82
(A) O fawm™
(B) O faym™
(C)O fAuy (Correct Answer) (Chosen option)
(D) O dem
Question No.19 Marks: 1.00
Bookmark
DI BT T IoTell W T I A%’ i &1 awrew o g
(A) O A% &1 HEER URad-=Id g
(B) O fopan i vad frar 9 Wk WU 8| dea@dr| (Correct Answer)
(C) O U T A HIId Ghe 51 Biail (Chosen option)
(D) O 1A &I F A 7RI §il 8, PId el
Question No.20 ] Marks: 1.00
Bookmark
gaﬁaﬁ%mummméﬁaﬁfaw 3F gIdl 8, a9 34 T T ST
|
(A) O <y
(B) O fa=at Hf¥ (Correct Answer) (Chosen option)
(C) O oo iy
(D) O gurdfy
Question No.21 Marks: 1.00
Bookmark
o axgait ar ufdfRufaal o ST wRht 4T SEI 8 ovraT & 39 FEd 3

(A) O afdad faHa
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(C)O 3@
(D) O H9RI HEG

Question No.22
TE M G- W T I1e T Y- Yd Ueg TH R -
(A) O U

(B) O fI=INUT (Chosen option)
(C) O fwmal (Correct Answer)

(D) O fopa fa=iwor

Marks: 1.00
Bookmark

Question No.23
il G S B =l g7 & g U ek 1 57
(A) O SereR
(B) O waw
(C) O Ryl

(D) O Ser™@™ (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.24
BT & b= UG BId &7
(A) O IR
(B) O durg
(C) O M (Correct Answer) (Chosen option)

(D) O =

Marks: 1.00
Bookmark

Question No.25

All candidates are given full credit for this question in view of technical error.

Marks: 1.00
Bookmark

Page -7




872

(A) O WaTsg
(B) O ¥AX Wsg
(C) O HgHd U

(D) O dfeRgerd Tsq (Chosen option)

Question No.26 Marks: 1.00

Bookmark
ORI 701 & GRT TR AT IUHH T T R Bt A § S 01 B 1 H8d 872

(A) O 3[R (Correct Answer) (Chosen option)
B)O =
(C)O dIfY

(D) O @q

Question No.27 Marks: 1.00
Bookmark
faRIwor foF Teat o1 faxiydT 9d1d §, 3 Pedrd
(A) O |dq™ (Chosen option)

(B) O yfa=iyyy
(C) O fa=iw= (Correct Answer)

(D) O

Question No.28 Marks: 1.00

Bookmark
?W%Wﬁﬁm%uﬁﬁ%ﬁmm%ﬁﬁmﬁﬁﬁwmm
?

(A) O dgdTsa

(B) O dcHH TG (Correct Answer) (Chosen option)
(C) O uRplI® Tsg

(D) O <= g
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Question No.29 Marks: 1.00
Bookmark

7 I U MY et § @ b9 & 1y Uy &) Tebd 872

(A) O yldepd

(B) O gy

(C)O ud®

(D)O ';Iq?ﬁf (Correct Answer) (Chosen option)

Question No.30 Marks: 1.00
% Bookmark

Tella [T yaiaar g7

(A) O T

(B) O uet

(C)O &=

(D) O ST (Correct Answer) (Chosen option)

Question No.31 Marks: 1.00

Bookmark
Fill in the blanks with the suitable article in the given sentence:
lack of soft-skills in employees who have just joined ____ organisation leads to
ineffectual workforce.

(A) O A, the, the
(B) O The, the, a
(C) O The, the, an (Correct Answer) (Chosen option)

(D) O The, an, a

Question No.32 Marks: 1.00
Bookmark
Choose the correctly punctuated sentence.

(A) O The speaker said, "High and low, rich and poor, wise and foolish: all must
die." (Correct Answer)

(B) O The speaker said: "High and low; rich and poor; wise and foolish; all must die".
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(C) O The speaker said, "High and low, rich and poor, wise and foolish, All must die!".
(Chosen option)

(D) O The speaker said; "High and Low, Rich and Poor, Wise and Foolish, All must
Die."

Question No.33 Marks: 1.00
Bookmark
Another way of saying this sentence would be:
The thieves did not realise that their conversation was being recorded.
(A) O The thieves did not realise that someone was recording their
conversation. (Correct Answer) (Chosen option)
(B) O The thieves recorded their conversation without realising.
(C) O Conversation was recorded when the thieves did not realise.
(D) O Someone did not realise that the thieves were recording their conversation.
Question No.34 Marks: 1.00
Bookmark
Fill in the blanks with the appropriate determiner in the given sentence:
patience and of hard work will definitely pay ____ rich dividends.
(A) O Alittle, lots, many (Correct Answer) (Chosen option)
(B) O A little, lot of, more
(C) O Little, much, more
(D) O Little, lot, more
Question No.35 Marks: 1.00
Bookmark
Choose the CORRECT option to complete the given sentence:
Rohan’s problem was on what he was reading.
(A) O which he did not concentrate
(B) O when he did not concentrate
(C) O that he did not concentrate (Correct Answer) (Chosen option)
(D) O why he did not concentrate
Question No.36 Marks: 1.00
Bookmark
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The tour company was accused for misleading tourists about the location of
their hotel.

(A) O fairly
(B) O exceptionally (Chosen option)
(C) O deliberately (Correct Answer)

(D) O pleasingly

Question No.37

Marks: 1.00
Bookmark
Choose the CORRECT option to give one word substitution for the given phrase:
A person who draws or produces maps
(A) O Stenographer
(B) O Somersaulter
(C) O Cartographer (Correct Answer) (Chosen option)
(D) O Photographer
Question No.38 Marks: 1.00
Bookmark
Choose the option that shows the CORRECT change in voice:
The villagers were rescued by the army during the flood.
(A) O The army is rescuing the villagers during the flood. (Chosen option)
(B) O The army rescued the villagers during the flood. (Correct Answer)
(C) O The Army was rescuing the villagers during the flood.
(D) O Is the Army rescuing the villagers during the flood?
Question No.39 Marks: 1.00
Bookmark

Choose a word which is similar in meaning to the word in bold in the given sentence:
Racial segregation was a reality in many countries.

(A) O Desertion
(B) O Separation (Correct Answer)
(C) O Education (Chosen option)

(D) O Integration
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Question No.40

Choose the word which has the opposite meaning to the word in bold in the given
sentence:

Both the magicians were frisky, feisty and full of tricks.

(A) O Dauntless
(B) O Sorrow
(C) O Cowardly (Correct Answer) (Chosen option)

(D) O Plucky

Question No.41

Choose the option that shows the CORRECT change in voice:
Alex chops ten trees in 5 hours.

(A) O Ten trees are chopping by Alex in 5 hours.
(B) O These ten trees were chopped by Alex in 5 hours.

(C) O Ten trees are chopped by Alex in 5 hours. (Correct Answer) (Chosen
option)

(D) O How many trees are chopped off by Alex?

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Question No.42

Identify the error in the given sentence.

The euphoria over becoming a federal territory has been replaced into a fear of losing

lands, jobs and identity.

(A) O losing lands

(B) O into a fear (Correct Answer) (Chosen option)
(C) O has been replaced

(D) O euphoria over

Marks: 1.00
Bookmark

Question No.43

Choose the option that gives the CORRECT meaning to the word in bold in the given

sentence:

My grandmother who is over 80 years old was feeling under the weather and we
rushed her to the doctor.

Marks: 1.00
Bookmark
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(A) O Not feeling well (Correct Answer)
(B) O Feels cold during the winter (Chosen option)
(C) O Did not like hot weather

(D) O Does not like to carry an umbrella

Question No.44 Marks: 1.00

Bookmark
Fill in the blanks with the appropriate tense in the given sentence:
Today | shall you the history of a boy who in a family that
stubbornly atheistic.

(A) O tell, was born, was (Correct Answer)
(B) O amtell, is taking birth , were
(C) O will be telling , was birth , were

(D) O telling, is birthing , was (Chosen option)

Question No.45 Marks: 1.00
Bookmark

Solve:

ey

EiL — 9
I T =

Eﬁiﬁ:‘

7
fo- f(x')+f(§—x) dx ’
(A) O /2

/2

B) O 1
1

(C) O 0 (Chosen option)
0

(D) O /4 (Correct Answer)
4

Question No.46 Marks: 1.00
Bookmark
Evaluate:- [sinxsec? xdx
Hedih PN - [sinxsec? xdx
(A) O sinx+c
sinx + ¢
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tanx +c
(C) O cotx + ¢ (Chosen option)
cotx + ¢

(D) O secx + c (Correct Answer)
secx+c

Question No.47 Marks: 1.00
Bookmark
If the elevation of the Sun changed from 30° to 60°, then the difference between the
lengths of shadows of a pole 15m high is:
i gd BT ITTF 30° TV 60° I IS Il &, < U 15 Hier Sl Uld B ST & qdls &
I BT 3R %’:
(A) O 10V3 m (Correct Answer)
103 Tex

(B) O 12v3 m (Chosen option)
12v3 HieX

(C)O 15V3m
15v3 Hiex

(D) O None of these

EREECIER]

Question No.48 Marks: 1.00
Bookmark

Find the area under the curve y=V(3x+4 )above the x-axis and between the lines x=0
and x=4.

%a{&réswawwV(3x+4)asasaaﬁ¥i@aﬁx=osﬁ?x=4%aﬂaﬁamm
l
(A)O 119

— sqaunits
3 q

119 . =
5 TS

(B) O 112

' sq.units | (Correct Answer) (Chosen option)

©0

o6 -
=y Shig
34

(D) O 36

— squmits
9 4

=15} -
?EFTQEBIE'

Question No.49 Marks: 1.00
Bookmark
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e e g 1 e [in e 2 s { e PR, i T A L e .

e (W) fieft 7 (2i—j+28) =12 2@ gl
A O g

(B) O 4/3
4/3

(C) O 3/4 (Chosen option)
3/4

(D) O 4 (Correct Answer)
4

Question No.50 Marks: 1.00
Bookmark

In a Linear Programming Problem, the linear relations of the variables which are either to
be maximized or minimized is called .
T AP T IR §, @R & e e 5 a1 at sif¥iean a1 <gaw fasar Sl &,
3% I I 3
(A) O the decisions variables

Al =R (fsRom afegea)
(B) O the constraints functions

HRIY T (Pl-accd HaRH)
(C) O the variable function (Chosen option)

TR B (AR HaRM)
(D) O the objective function (Correct Answer)

I B (SATeoifaed HaRH)
Question No.51 Marks: 1.00
Bookmark
10
Evaluate 4 9
mc_4
- -8
HellehT e - s ?
4
(A) O 10
10
(B) O 24 (Correct Answer) (Chosen option)
24
(C)O 6
6
(D) O 120
120
Question No.52 Marks: 1.00
Bookmark

The position of a moving object is given by the function X (t) = 3t2 -12t +1; find the
velocity after 5 secs. ?
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e
(A) O 18 m/s (Correct Answer)
18 Hiex AP s

(B) O 20 m/s

20 WSS
(C©)O 22m/s

22 HIRAHS

(D) O 16 m/s (Chosen option)
16 xS

Question No.53 Marks: 1.00
Bookmark
All candidates are given full credit for this question in view of technical error.

A coin is biased so that a head is twice as likely to occur as a talil, if the coin is tossed
three times, what is the probability of getting exactly two tails?

T RyeepT TTerd (T&UTd) © S99 T IR # R (8S) 3 &1 GHIa=T Ue (&) ¥ &l T 8,
Tfe RygeT I IR SS9 ST B, O 31 3f R (38) 3 &1 WifdiesdT 31 82
(A) O 4/9 (Chosen option)
4/9
(B) O 7/9
7/9
(C)O 2/9
2/9

(D) O 5/9
5/9

Question No.54 Marks: 1.00
Bookmark
In which of the following categories can we put Bisection method?

frafeiaa o O forg 9ot o g0 grfgue faftr (SrdeRF AUs) 1 SUahT R Udhd 872
(A) O Bracket Solutions (Correct Answer) (Chosen option)
Bd
(B) O Graphical Solution
'

(C) O Empirical Solutions

SIHIS gd
(D) O Trial Solutions

ERIEIGK

Question No.55 Marks: 1.00
Bookmark
From two well shuffled pack of cards what is the probability of getting one Jack from the
first one and a King from the second?

3T AE el T &) AT B TSt H W Ugd ¥ A 3R g ¥ F1eRe Hear &t
TR 1 872
(A) O 1

13X13

(Correct Answer)
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13x13
B)YO .5
26 % 25

2%3
26 X 25

©0
‘52 %52

1
‘52 % 52

D)O 4x3
52 x51
4 %3
52 x51

(Chosen option)

Question No.56 Marks: 1.00
Bookmark
Find the maximum value of Z = 5X{+7X5 subject to X4 +X5 <4, 3X{ +8X5 < 24, 10X
+7Xo <35 and Xq, Xo 2 0?
Z = 5X4+7Xo Pl SHfYHaH T J1d B, Sa X1 +Xo =4, 3Xq +8X5 =24, 10X +7X, £ 35
3R X4, X 2082
(A) O 24.8 (Correct Answer)
24.8

(B) O 26.5 (Chosen option)
26.5

(C)O 175
17.5

(D) O 24.1
24.1

Question No.57 Marks: 1.00
Bookmark

2 2 1
Ifx =0, then the solution of (@ +x)2 + 4 (a— x)z = 5 (a®— x*)3is__.

W x£0 B (@tx)i+d(a—x)s =5 (a>— ¥ aEa____ Bl
(%) O

S R

(B) O |63,

—|(Correct Answer)
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&
(C) O 4a (Chosen option)
4a

(D)O a

a

Question No.58 Marks: 1.00
Bookmark
tet A, B, C be 3independsntevents such that P(A ) = é, P(B}= % P(C}= i then
probability of sxactly 2 events occurring out of 3 eventsis:
a5 A.B.C. 3 WWEW?%P(A)=§= P(B)%,P(C)% 2@ 3 seTmeia Y
2 Teel & uled o T Mt 2
(A) O 3/4
3/4
(B) O 1/4 (Correct Answer)
1/4
(©)O 112
112
(D) O 1/24 (Chosen option)
1/24
Question No.59 Marks: 1.00
Bookmark
Which among the following is the mass of two molecules of water?
Fafied o ¥ S F-11 oI & & 3(U[3fi &1 SqH 872
(A) O 5.98 x 10°23 g (Correct Answer)
5.98 x 1023 g
(B) O 36 g (Chosen option)
36¢g
(C)O 184
18 g
(D) O 36x1023 g
36x 1023 g
Question No.60 Marks: 1.00
Bookmark

The electric field E due to an uniformly charged sphere of radius R is represented as the
function of the distance from it's centre , which of the following curve represents the
relation correctly?

51 R el TH9HM WU ¥ SMAfRId Md & SR fdgdd &F E, 39D dx U gil ®l had &
U H exidr 8, Fafifed 9% & ¥ S19-971 Yy o) 98l <7 ¥ <=id 872
A O
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(Correct Answer)

r—»

(B) O

—~
c
(e]
2
Q
o
c
(]
%)
(@)
<
O
SN

(@)
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= —

(D) O

Question No.61

Which one has the highest percentage of endangered species?
T TRt # ¥ frgeT ufawrd a9 oifde 872
(A) O Amphibians (Correct Answer)
3 .
(B) O Birds (Chosen option)
utgrt
(C) O Insects
Fiel
(D) O Mammals
ESRE|IR]

Marks: 1.00
Bookmark

Question No.62

Which of the following alcohol is a primary alcohol?
fafaRad &  H1F-91 sieplgd T U semigd 872
(A) O 3-Pentanol

3-ucHId
(B) O 2-Butanol (Chosen option)

2-gcHld

(C) O 1-Butanol (Correct Answer)

Marks: 1.00
Bookmark
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(D) O 2-Methylpropan-2-ol
2- TS AU 2- 31T

Question No.63

Vitamin B6 is soluble whose deficiency causes
ICEIEEEIR ¥ faera giar g, foreest & A
(A) O water, convulsions (Correct Answer)
od, UaH (P-aax)
(B) O oail, rickets
aq, e
(C) O oil, scurvy
e, ®hdl
(D) O water, beri-beri (Chosen option)
o, s

disease.

T g B

Marks: 1.00
Bookmark

Question No.64

The Kinetic energy of an object can never be:
forelt avg pt it Srott (g Y <7EY B el B
(A) O Positive

YATHDP
(B) O Negative (Correct Answer)

BUMTHSD

(C) O Zero

A
(D) O Equal to potential energy (Chosen option)

& RER

Marks: 1.00
Bookmark

Question No.65

ZZ/Z\WN type of sex determination is found in:
fort RuRor &1 2z / zZwW TR 9 & g i @:

(A) O Peacock (Correct Answer)
R

(B) O Horse (Chosen option)
e

(C) O Human
EIEE]
(D) O Cockroaches

Marks: 1.00
Bookmark

Question No.66

Which of the following chemical compound causes Bio-magnification?

fRafafaa & ¥ P9-a1 e Gifie Sa-3mae o7 SR s 82

(A) O Sulphur dioxide
SRS EEIENIES)

O

Marks: 1.00
Bookmark
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S
(C) O Methane
L]

(D) O Carbon dioxide (Chosen option)
C o
PId SIRIAHNRS

Question No.67 Marks: 1.00
Bookmark

Which of the following system best represents the thermal equilibrium?

frafeRad & I -3 vomelt yHe e & oy ST Ufdied Bl 82

(A) O Two objects of exactly the same temperature are in contact with each
other -- heat can transfer freely between them, but no heat transfer is
happening. (Correct Answer)
Wwﬁa?ﬂg%a ¥ TUF ¥ § - I S SHWT WdT =T A
RIFIARd g1 9ol &, SCHT GEATARYT 81 81 /T 51

(B) O An object is heating up due to a nearby fireplace
TR B YET P BRI Teb % T4 o e ©

(C) O A hot object and a cold object are placed next to each other. (Chosen option)
TS TH %] 3R TP 381 a%g B! TP GuR & 1l 1 X7 1l & |

(D) O Two objects of exactly the same temperature have an impenetrable heat barrier
between them.

THGH IO B el T3l & e U 39e ST 3aRIY® gidl gl

Question No.68 Marks: 1.00
Bookmark

Initially the temperature in both the vessels was equal , after the salt gets dissolved in
the water, which one of them will be at higher temperature?

” ~-
& # = -

VESSEL B

ATgEE TR B2

b VESSEL A i
: = Water

Salt
e R o . reeupemgriiog s i A |
cyrstal e powder
e e et e D, e .
T et — s form

(A) O A (Chosen option)
A

(B) O Data is insufficient
g1 srafe §

(C) O Temperature remains same in both vessels
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(D) O B (Correct Answer)
B

Question No.69 Marks: 1.00

Bookmark
Which state variables of ideal gas are changing during its free expansion?

3™ 7Y Y HH-T TR 3P o YR & <R URad14 el 872
(A) O Volume and temperature only
Had AT AR AUHH

(B) O Pressure, volume and temperature
G4, 3a SR dIUEH

(C) O Pressure and Volume only (Correct Answer) (Chosen option)
A9 3R AR

(D) O Volume only
A

Question No.70 Marks: 1.00

Bookmark
In a circuit, a battery of terminal voltage V is connected to a net resistance R . If | current

is drawn from the battery, then the power consumed by the battery is given by:
TP URuy H, =i diees v aTc U o, T UfeRiY R A 9S85 ¢ 1 3G o’ § 4R |
3TERd Pt STt 8, aF e GRT |Ud @1 o arell wfda g gry & ot &:
(A) O VI
\!

(B) O

VZ

R
2
R

(C) O (Chosen option)

I;"R (Chosen option)

(D) O All of these (Correct Answer)
Sugad |t

Question No.71 Marks: 1.00

Bookmark
In AIDS, the virus kills:

TS ¥, IRRY D AR &

(A) O T-Helper Cells (Correct Answer)
E-TEID PIRIBISA

(B) O B-cells

(C) O T-Cytotoxic cells (Chosen option)
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(D) O Eosionphils

Question No.72 Marks: 1.00

Bookmark
The net charge on the plates of a parallel plate capacitor is:

TP AR We YR 1 @el WR Y AT 8iaT 6:
(A) O Positive and small (Chosen option)
YD 3R BT
(B) O Negative and small
FHUTEE 3R BT
(C) O Positive and large
YD 3R fa=mre
(D) O Zero (Correct Answer)

RS

Question No.73 Marks: 1.00
Bookmark
Find out the wrong numbers in the given series.
3,3,8,15,22,27
2 TS gTa § TTad Sesii B J1d Bl
3,3,8,15,22,27
(A) O 8,22 (Correct Answer)
8, 22
(B) O 15, 27 (Chosen option)
15, 27
(©)O 27,3
27,3

(D)O 3,8
3,8

Question No.74 Marks: 1.00
Bookmark

Solve:

[“3)!024 = {'[3)102]]

6?1’3—73:

[,:13')1"424 = (13)1021]
(A) O 2197 (Correct Answer) (Chosen option)
2197

(B) O 56421
56421

(C)O 169
169

(D) O 28561
28561
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Question No.75 Marks: 1.00
Bookmark
The ratio of number of balls in bags x, y is 2 : 3. Five balls are taken from bag y and are
dropped in bag x. The number of balls is equal in each bag now. The number of balls in
each bag is:
S x, yﬁﬁﬁ&rﬂﬁ@IWWZQ% lu‘faﬁaﬁévyﬁfﬁmwéeﬁw%éﬂxﬁ
RT & A1 51 31d Ui o9 § T o O] SRI6R | TP o H 31e) ot I
gl

(A) O 30

30
(B) O 20 (Chosen option)

20

(C) O 25 (Correct Answer)
25

(D) O 45
45

Question No.76 Marks: 1.00
Bookmark
All candidates are given full credit for this question in view of technical error.

A party is attended by 61 people. It was identified that 20 attendees drink tea but not
coffee and 36 of them drink tea and coffee. How many attendees drink only coffee and
not tea?

TP Uret & 61 AN A Bid &1 I8 TaT Il fob 20 Hislg @i 9g Uid € 9 o6 S1o!; 3R
g%@r%?ﬁﬂam 3R BTt gl Ui § 1 T AiN[g @M ad HIb! Uid & SR a1 -Tgt
?
(A) O 16 (Chosen option)
16

(B) O 20
20

(C)O 25
25

(D)O 32
32

Question No.77 Marks: 1.00
Bookmark
From among 6 boys Rahul, Sanjeev, Mohit, Kunal, Rohit and Sagar and 5 girls Preeti,
Sunita, Rashi, Heena and Khushi, a team of six is to be selected under the following
conditions:
. Rahul and Kunal have to be together
. Mohit cannot go with Heena.
. Heena and Khushi have to be together.
. Sanjeev cannot team with Rohit.
. Kunal cannot go with Preeti.
. Sanjeev and Rashi have to be together.
. Mohit and Sunita have to be together.
If the team includes Preeti and three more girls, the members of the team other than
Preeti are:

NOOARWN =

6 ASH! A J g, Tolla, Hifed, FUNH, Afed 3R TFR Td 5 dsforar difd, o, iy,
foTT oIk =Nt 1 ¥ B8 &1 UHh W &I Fafafad 2df & ded g1 ST §:

Page - 25




1. g 3R UM Bl b 1Y 51 5

2. Hifgd, &1 & 1 e off Gepar B

3. fe 1 3R =i &1 U W1y T B

4. Ioffa, fgd & 1Y 7181 IS Wbl g

5. HUTd, Wifa & W1 el S el 71

6. Toild SR A B TP 1Y 1 6

7. Fifed SR G &1 TF WY G 3

gfe A9 7 ifa 3R &4 s asfeal wfta €, d ifa & sramar S & gew &

(A) O Sanjeev Mohit, Sagar, Sunita, Rashi
, Hifgd, R, -, i

(B) O Rahul, Kunal, Rohit, Heena, Khushi

ﬂgamﬁ%a%m@ﬁ

(C) O Sanjeev, Sagar, Rashi, Heena, Khushi (Correct Answer) (Chosen option)
Jeild, IR, M3, 1%=n Qzit
(D) O Rahul,Kunal, Sanjeev, Heena, Khushi

18, HUITd, Teitd, fg=r, gt

Question No.78 Marks: 1.00
Bookmark

Which shape can be seen in the drawing below?
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l/ (Correct Answer) (Chosen option)

P.

Question No.79 Marks: 1.00

Bookmark
Trisha goes to office at 10 kmph and reaches the office 2 minutes late, If she goes at 15
kmph she reaches the office 2 minutes earlier than the scheduled time. What is the
distance of her office?

IO 10 oot Tfd d¢ b1 XIUAR ¥ 31T STl 3 31K 2 e &t 3 3iiftha ugad ¢l afc a8
15 fopelt Ui € 1 TR F St § o Rufva g 3 2 fiFe uga ot ugadt 81 3%
ST I B g3 T ]2
(A) O 3km

3 fopit,

(B) O 2 km (Correct Answer) (Chosen option)
2 fopaft.

(C)O 4km
4 fopdi.

(D) O 2.5km
2.5 Tl

Question No.80 Marks: 1.00

Bookmark
A sold an article for Rs. 8,000 and incurred loss. Had he sold the article for Rs. 9,800 his
gain would have been twice the amount of loss. At what price should the article be sold
to earn 20% profit?

A9 8,000 ¥UY T TS X DI 9T 3R IY THUM g1 Al 3711 I BT 9,800 IUT H &1
BT 1 ST AY, BT DI AT H GRIAT BTl 20% TTH SHTold PR & 1074 a%g ! v T
TR ST ST F18T?
(A) O Rs.9,820
9,820 %UU
(B) O Rs.10,840 (Chosen option)
10, 840 JUT
(C) O Rs.9,840
9, 840 >UU
(D) O Rs.10,320 (Correct Answer)
10,320 ¥UY

Question No.81 Marks: 1.00

Bookmark
A'is older than B by 5 years. Seven years hence, thrice A's age shall be equal to four
times that of B. The present age of A is :

A, B 5T 931 8| 1 aY §18, A &1 oM A1 99, B &1 IR AT SY & SRR BRI A Bt
A 3 g
(A) O 9years
9Ty
(B) O 8years
8 qd
(C)O 7 years
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(D)O 13 %%ars (Correct Answer) (Chosen option)
13

Question No.82 Marks: 1.00
Bookmark
For a social work, 7 men and 6 women gave their nominations. The committee is formed
to select 5 people from the nominated persons in such a way that atleast 3 men are
there in the final team. Find the number of ways in which the people can be selected.

T IS BT & oY, 7 GouT 3R 6 Higarsii = ST i fan| | &1 a4
AHifd fdadl & I 5 A BT 98- B3 & (00 39 YBR (a1 SIIdl § dlfep ifad & &
HU Y DT 3 T 5l | T aD! B U1 J1d B o8 AN 1 T T 1 9he 5
(A) O 756 (Correct Answer)

756

(B) O 689 (Chosen option)
689

(C)O 846
846

(D) O 622
622

Question No.83 Marks: 1.00
Bookmark
Samar can read 600 pages in 6 hours whereas, Samar and Priti together can read 5000
pages in 40 hours. In how much time (in hours) can Priti read 500 pages?

IR 6 U H 600 TS U Tohdl 7, Siaie IAR 3R Wfd T Ty 40 I & 5000 U U Tha
&1 T b T (22 H) 500 Y UE Tebdll 87
(A)O 12
12
(B) O 24
24

(C) O 20 (Correct Answer)
20

(D) O 15 (Chosen option)
15

Question No.84 Marks: 1.00
Bookmark

Complete the series choosing the missing letter/s:
LK _,PT

T 3HeR/31ERT BT T §U YT Bl I DY
weT

B) 0O
© O
D)O

(Correct Answer) (Chosen option)

sEssrr zz A4

Question No.85 Marks: 1.00
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Which of the following is definitely not a leap year?
frgfeiea & @ eF-a1 Y 0 9t v ad T8 82
(A) O 2100 (Correct Answer)

2100
(B) O 2040
2040
(C) O 2000 (Chosen option)
2000
(D) O 1996
1996
Question No.86 Marks: 1.00
Bookmark
What percent of 6.3 kg is 9 gms?
6.3 fopu. 1 e ufa=d 9 7\ g 82
(A) O 0.15%
0.15%
(B) O 0.12%
0.12%
(C) O 0.14% (Correct Answer) (Chosen option)
0.14%
(D) O 0.13%
0.13%
Question No.87 Marks: 1.00
Bookmark
What is the use of Shift + F5 shortcut key?
Shift + F5 Qedhe DI (key) BT ITTNT T 82
(A) O Stgrt slide show from the current slide (Correct Answer)
P WSS I T3S T & HIAT
(B) O Stop or restart an automatic presentation (Chosen option)
ffciafee Uuic=M &I T a1 Rere el
(C) O Start a presentation from the beginning
R Y U USICIMA Bl 3T
(D) O Perform the previous animation
o THERE $ WBIH BT
Question No.88 Marks: 1.00
Bookmark

Which of the following area shows a calendar of today with a list of upcoming
appointments and task ?

ﬁgi%@éﬁﬁ@rﬁﬂ-mqﬁm&w&m ETEeHeY SR TR Bi foRe & 1Y 311 BT HaleR
fe@rar g2
(A) O To Do Bar (Correct Answer)
«§ IR
(B) O Inbox
EREICE|
(C) O Reading pane (Chosen option)
MEURE|

(D) O People pane
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Question No.89 Marks: 1.00

Bookmark
Footer is the text that appears at the of every page of document.

ex 98 o ¢ ff STagHe & R U & 3R e e gl
(A) O right
NEE
(B) O bottom (Correct Answer) (Chosen option)
dicH
(C)O top
<

D) O left
AT

Question No.90 Marks: 1.00

Bookmark
What does GAL stand for?

GAL Sfaraer f5d exifar g2
(A) O Get Address List
Tgy fore

(B) O Global Attached List (Chosen option)
oo 3iees fore

(C) O Guest Address List
TeH fore
(D) O Global Address List (Correct Answer)

Ted fore

Question No.91 Marks: 1.00

Bookmark
A spreadsheet consists of rows and columns. Each row and column intersection creates
a into which you may enter data.

TP Wsie H A 3R A 8id &1 TAD A 3R Hiad Ufowsed FeAa-A) T
ST &, o 3y Se7 oof R ¥ebdl B

(A) O cell (Correct Answer)
G|

(B) O function (Chosen option)
AR

(C) O formulas

(D) O tab
g

Question No.92 Marks: 1.00

Bookmark
Which was first version of Windows?

faSIST BT UUH THIUT HI--9T UT?
(A) O Windows 1.0 (Correct Answer)
i 1.0

(B) O Windows X
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(C) O Windows VISTA
fdsia fawer

(D) O MS DOS (Chosen option)
UHUY ST

Question No.93 Marks: 1.00
Bookmark
Which tool is used to record a presentation screen to demonstrate a process as part of a
PowerPoint Presentation?
UTaR Ulsc USIcRH & U URT b U § U UlhdT SxH & folt USiex™ Thid &l Repls B
& fore fry ed o1 SUTNT fopar oiraT 82

(A) O Screen Recording (Correct Answer)

(B) O Slide recording (Chosen option)
ST
(C) O Video Recording

fafear Repitem

(D) O Presentation recording

Question No.94 Marks: 1.00
Bookmark
What is the purpose of recent option in MS-Word?
THTE-gS § R 3= &1 32z 1 82
(A) O This optlon is used to open new documents.

g AT, < STRHE B 3T B S 7T W fobaT S 21

(B) O This option lists down all the recently opened documents. (Correct
Answer) (Chosen option)

I8 S grer €t § Mft eiiors STegie &) TEllas e g
(C) O This optlon is used to opened documents.
TG TR, STHgHT S FH3 & forg swiwTet o S B

(D) O This optlon is used to save documents.

g 3T, SiRgHc &1 ¥d B & forg XU foar Sirar 81

Question No.95 Marks: 1.00
Bookmark
Computer is an electronic device, which takes from user in the form of data and
instructions.

a»‘ugwgéaaﬁasuw% S Set 3R A & ®u # SughTeat (goR) ¥
(A) O storage
RS

(B) O input (Correct Answer) (Chosen option)

ERlc)
(C) O memory
BRI

(D) O output
3r3ege
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allows you to create a new presentation and open an existing

AT T 74T Uole=H fohUe B 3R T Hislal Yol Siue & &t

presentation.

3 e Bl

(A) O Placeholder

TGt

(B) O Task pane (Correct Answer) (Chosen option)

TRD U
(C) O Ouitline pane
3fT3ears U
(D) O Slide pane
wWEs U

Question No.97

What is the function of WIN+E?
WIN+E T T BRI 572
(A) O Open Desktop
Sy 3 BRAT
(B) O Start window (Chosen option)
ISt € e o
(C) O Undo task
TR DI 3G HIAT
(D) © Open MY computer (Correct Answer)
AT $YER AU BT

Bookmark

Marks: 1.00
Bookmark

Question No.98

What is extension of MS Word file?
THTY 98 BI3d T Uaue e 3T 87
(A) O xIm

XIm

(B) O .doc (Correct Answer) (Chosen option)
.doc

(C)O .png
-Png

(D) O .ixt
Ixt

Marks: 1.00
Bookmark

Question No.99

Which tool is used to rearrange the data to find values quickly?

AT (deg) I Teg! ¥ I1d B & oA § Sl Bl RRS T3 & o fvw ga &1 suai foan

STl 87
(A) O Sort (Correct Answer)
|

(B) O Cell Style
qa TR
(C) O Format Table (Chosen option)

Marks: 1.00
Bookmark
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(D) O Conditional formatting
SR B feT

Question No.100

The screen in outlook is used to manage your email, both incoming and

outgoing.
3T3eqD o Th I BT SUANT, 3D SHA DI SAB T MR SIS G-I Dl
S FHo=A o ford o S ]
(A) O Reading pane (Chosen option)
RURRIAE]

(B) O To Do Bar
SRR
(C) O Mail (Correct Answer)

(D) O People pane

Marks: 1.00
Bookmark

PART-B - PART-B

Question No.1

In a certain soil sample, there are little or no fines. In this soil sample, more than half of
the coarse fraction retain on 4.75 mm sieve and is well graded. Soil can be classified as:

TH ST gl & T3 §, 9gd 39 T1 Hls aRIP & ol ol S eI b 97, s ¥
31 Hie 31T 1 fexdr 4.75 iyt Serl IR 8 SraT ¢ 31R I8 3! a9 Aufiag (I99)
21 1) o) 39 v arffopd fovam o Tobett &

(A) O GW (Correct Answer)

(B)O GC
EIR]]

(C) O GM (Chosen option)
offeH

(D)O GP
St

Marks: 1.00
Bookmark

Question No.2

Name the canal designed for irrigation throughout the year?

v +R R o oy FEwTs o1 718 78R o1 T Fd150?

(A) O Continuous canal
FRR TR

(B) O Perennial canal (Correct Answer) (Chosen option)
TREATH 78R

(C) O Permanent canal
QAT e’

(D) O None of these

Iuded # q I el

Marks: 1.00
Bookmark

Question No.3

Marks: 1.00
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is the compression member which stays above the pile and makes the
bridge stable. It also provides for span at intermediate points.

T Y= (GRITM ARR) T 8 Sl UISd & SR I8dT & SR Jd & fRR §91a1 82 T8
nmaﬁf%g&hwﬁma(@q)é?fmmﬂmm%
(A) O Pier (Correct Answer)
TR
(B) O Pile
EIESS
(C) O Deck
3H

(D) O Abutment (Chosen option)
Jqche

S

Question No.4

Which of the following is NOT a method to measure deflection of beam?
Fraffad § 3 S19-1 =T @19) & [F&uu &) 71 3 ve faf 78 21
(A) O Double integration method (Chosen option)

EEGRGAESURTIE!
(B) O Moment area method

HiHe &= fafe
(C) O Strain Energy method

St [afy

(D) O Stress energy method (Correct Answer)
fafer

Marks: 1.00
Bookmark

Question No.5

Camber is provided:

HTR B yer fear ST 81

(A) O To prevent seepage flow
RIEERNIEIREE EANY

(B) O To prevent capillary rise
DIRIPT gig DI A o ey

(C) O To remove water from the pavement surface (Correct Answer) (Chosen
option)

Heurd S Hag ¥ Ul ge & fag

(D) O To lower water table by draining off water

U P F8THR o TR D] HH B & [T

Marks: 1.00
Bookmark

Question No.6

What paint is applied on steel and NOT enclosed in concrete?
DIF-I1 Ue W IR Tgad 811 ¢ 3R dhebie H JHGT o 672
(A) O Yellow lead

B

(B) O Green lead
dHde

(C) O Black lead

Marks: 1.00
Bookmark
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(D) O Red lead (Correct Answer) (Chosen option)
Vs e

Question No.7 Marks: 1.00

Bookmark
A structure, during an earthquake should be able to undergo large inelastic deformation
(in a ductile behaviour) without significantly losing its strength. This ensures:

YU & SR T TII1, Hed & 91y {31 30t drepd Wi, 519 fRR a1 3z anfes faeuur

F T AR N I ORI A Iemgaituag_  gREdsarel
(A) O Increased earthquake force
¢ g YHU I
(B) O No shear force in the members
Tl T Blg U=l § ol
(C) O No moments in the members (Chosen option)
&l B B T o1
(D) O Increased time period of structure (Correct Answer)
T ®F 9Hd afy # i
Question No.8 Marks: 1.00
Bookmark
Sleeper spacing is the width of the sleeper+ |
TR, TR + GIEISE
(A) O 6 x depth of ballast
ﬁl@ BT 6 x TIBTI"QC
(B) O 5 x depth of ballast
et &1 5 x RIS
(C) O 4 x depth of ballast
It &1 4 x TeRTR
(D) O 2 x depth of ballast (Correct Answer) (Chosen option)
P2 x
Question No.9 Marks: 1.00
Bookmark
If the available pressure is poor and the quantity of water available is NOT sufficient to
meet various demands forwater, _ system should be suggested.
Tfe IUA <a1d TWRIS %ﬁmﬁﬁwuﬁﬁﬁﬁmmﬁﬁwﬁ%m
T el @, dl TUTE T gea f&a ST =nfeu|
(A) O intermittent (Correct Answer)
(B) O continuous
&R
(C) O ring (Chosen option)
(D) O controlled
[GRECH
Question No.10 Marks: 1.00
Bookmark

Excess water coming up causing small pores in concrete is called
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(A) O wear
IR (fam)

(B) O sweating
T 3T (W)

(C) O bleeding (Correct Answer) (Chosen option)
TFIAGUT (AT

(D) O shrinking

g (fb)

Question No.11 Marks: 1.00

Bookmark
In Pelton turbine, the water strikes the bucket in which one of the following ways?

Uee eraTs H, Fafafed & 9 fory dg 9 gohe 9 U eovial 872
(A) O Axial flow
31871 YaTg
(B) O Mixed flow (Chosen option)
fHf3d yarg
(C) O Radial direction through the runner
IR & 1Y 3 Msad fazm
(D) O Along the tangent of the runner (Correct Answer)
IR & T & 1S J

Question No.12 Marks: 1.00
Bookmark
Allowable stress for axial tension in steel should conform to IS .
i ¥ s1efia a1a & o Wier a1 (), ety & 3F=U g 1N
(A) O 750 (Chosen option)
750
(B) O 226
226
(C) O 800 (Correct Answer)
800

(D) O 944
944

Question No.13 Marks: 1.00

Bookmark
Lehman's method is also known as the method.

REEEEARGIDED] fafr & =0 & ot ST S 31
(A) O ftrial and error (Correct Answer)
w3 (G T §R)
(B) O mechanical (Chosen option)
i (HbHobd)
(C) O graphical
SfTEY (fthehe)
(D) O measurement
AU (HeHe)

Question No.14 Marks: 1.00
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Which of the following is NOT a method of Area measurement?
fafied & 3 PH-3f &= 7 ot we fafy T 82
(A) O Simpsons Rule (Chosen option)

R |

(B) O Double meridian distance method
ares aRfeT gt fafd

(C) O Polygon method (Correct Answer)
ggYe fafe

(D) O Meridian distance method
aRfET A fafd

Question No.15

The length of longwall usually from earthwork to brick work in super structure
while the short wall

Wwﬁ&ﬁﬁamwmu?ﬂwqmaﬁmms ST & Safp qhie
gl
(A) increases, decreases
d¢, Uc
(B) O decreases, decreases
9c, uc
(C) O decreases, increases (Correct Answer) (Chosen option)
Hc, de
(D) O increases, increases

Marks: 1.00
Bookmark

Question No.16

As per IS 456, what is the highest sieve size?
3METY 456 P 3IIR, I=ITH Se! (S1d) BT MHR T 82
(A) O 4.75 mm (Correct Answer) (Chosen option)
4.75 Toredy
B) O 1.18 mm
1.18 foet
(C)O 2.36 mm
2.36 faHt
(D) O 0.6 mm
0.6 foet

Marks: 1.00
Bookmark

Question No.17

Which of the following is NOT a type of beam?
Fafafad § ¥ F-91 &R (d19) &1 IS ISR a1 82
(A) O Cantilever
TGERA (eTaiiar)
(B) O Pinned (Correct Answer) (Chosen option)
s

©) O Contlnuous
FRER (@1<-a9)

Marks: 1.00
Bookmark
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YRUE: T (Rt wuics)

Question No.18 Marks: 1.00
Bookmark
The hardness index of timber to determine the suitability to use as a sleeper is called

TR & TG H I B & o1E ITgaadr HufiRa & ag adbs! B HORAl DD I
IR
(A) O composite sleeper index (Correct Answer) (Chosen option)
TAY TR AP TP
(B) O sleeper strength
R aad

(C) O sleeper hardness
TR HARdT

(D) O rail timber index
X dAbol GAbidh

Question No.19 Marks: 1.00

Bookmark
In a slow sand filter, the effective size of sand varies from

to

% He 3 fheex T, ¥ &1 TG 3MhR i % 7 gl 5|
(A) O 0.20 mm, 0.30 mm (Correct Answer)

0.20 fift, 0.30 firdt
(B) O 0.5 mm, 0.75 mm (Chosen option)

0.5 f&rT, 0.75 o
(©)O 1mm,2mm

1 fordt, 2 foredt

(D) O 0.1 mm, 15 mm
0.1 fot, 15 foret

Question No.20 Marks: 1.00

Bookmark
The critical section for shear design for a flexural member having concentrated loads
lies:

g?ﬁﬁwméwuﬁaﬁwﬁm%mm(w)mwm@f@gﬁywm

(A) O At the face of the support (Correct Answer)
U & B W
(B) O There is no critical section in the member
MTeR T BIg AUl ST T8l §
(C) O Between first concentrated load and mid-span (Chosen option)
Ugd Fiod HR 3R geg-3afy (frs-w9) & o9
(D) O At the mid span
Te-3afy (FAe-T) W)

Question No.21 Marks: 1.00

Bookmark
IS 456:2000 specifies the modulus of elasticity of concrete (E.) as:

IS 456: 2000 FHHIC B AT & AUID (E) B AfCE Fxar 8
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(RIWAW W) ‘\',[ J ck

3000/ for

(B)O

2000 \/ fer

©)O

(D) O

5000 \/’ﬂ

9000/ fur

9000/ for

7000/ e

7000/ fus

(Correct Answer) (Chosen option)

Question No.22

Combination of two reverse curves is called a curve.

3 Ieh AT I &b T B Ih Hel ordl 5|

(A) O deviation (Correct Answer)

faae= (sfawem)

(B) O complex (Chosen option)

€O

(D) O

Sifed (

compound

(PH3S)

double

TIE]T (S9)

Marks: 1.00
Bookmark

Question No.23

For a certain fine-grained saill,
Liquid Limit =42 %
Plastic Limit = 25 %
The group symbol for the soil is .
T Mg HeH-araR fiig! & forg,

wa i (fafes faffe) = 42%
IR AT (@IiRke faffe) = 25%

e uTmEwie_ Bl

(A) O

MH
T

(B) O CI(Correct Answer) (Chosen option)

©)O

(D) O

BIEIE
cL

ML

Marks: 1.00
Bookmark

Question No.24

Marks: 1.00
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The bars shall NOT be lapped unless the length required exceeds
E qF TS qals 3 31 7 81, <SF (@R) B HIST (AITS) T o (mls):reﬁ\ﬂlwnl

(A) O the engineering specifications

(B) O the maximum available length (Correct Answer)
Rpan IUAY TaTg
(C) O contractor requirements

SHER DI TALIH TSI

(D) O IS code requirements (Chosen option)
DS Sgdisl/maRamarsy

Question No.25

Brick masonry maintenance is stone masonry.
3 ) RS BT TWRWIG, TR BT FAE 9§ _ gl
(A) O less than
qHH
(B) O less than (subject to construction conditions) (Chosen option)
T w9 (et Rufaat & refi)
(C) O equalto
& IR
(D) O more than (Correct Answer)
3iferep

Marks: 1.00
Bookmark

Question No.26

Compass surveying is useful compared to chain surveying when:
a1 HHIT A&OT, SRIAT TAEUT &1 JaT & STNT T § of:
(A) O Uneven terrain needs to be surveyed. (Chosen option)

SIGHT ST T HI&UT hA BI SaTehl Bld! 2|

(B) O A large area needs to be covered. (Correct Answer)

TP I8 &F B Bk B B ATIRIHT Il 8
(C) O A small area needs to be covered in great detail.

TP B W &7 Pl 75d IR Y HR A $I AIIHT gral 21
(D) O Chain Survey tools are not available.

2l YI&(UT SYSUT JUAH TE] B 1

Marks: 1.00
Bookmark

Question No.27

If the size of brick is 19 x 9 x 9, the ultimate adhesive strength is obtained by dividing the
maximum load by
T E& BT SHR 19 x 9 x 9 2, A ST SMTod &l gRT AP 4R B
ERISCERCR ISEARTIRIE
(A)O 19

19

(B) O 81 (Correct Answer)
81

(C)O 8.1
8.1

Marks: 1.00
Bookmark
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Question No.28 Marks: 1.00
Bookmark
Which of the following is NOT a type of recording raingauge?

frafaRad & 3 1 T TPR &1 Rapitat 1S Tal 872
(A) O Weighing bucket type
7T g gy

(B) O Symon's gauge (Correct Answer) (Chosen option)

ISR
(C) O Tipping bucket type

I EER]

(D) O Natural syphon type

T i HIgth <8y

Question No.29 Marks: 1.00
Bookmark
According to IS 800:1984, maximum axial tension in shop rivets in MPa is

évaﬂ—riqms 80019@84%3@141? TadiY MPa)ﬁmmﬁaﬁmﬂe{&ﬂnm(m
) Bl
(A)O 70

70

(B)O 80
80

(C)O 90
90

(D) O 100 (Correct Answer) (Chosen option)
100

Question No.30 Marks: 1.00
Bookmark
Hydrostatic law states that:
gRSRcfed H & SuR:
(A) O Rate of increase of pressure in a vertical direction is equal to the weight
density of the fluid at that point (Correct Answer)

TP AR G H ga1a o gheg o, 39 fdg W R Uard & o 9@ &
W gl
(B) O Increase of pressure in a vertical direction is equal to the mass density of the

fluid at that point
TF SH@ieR o & gag # 9fg, 39 g W 59 & S99 g9 & SRR g

(C) O Increase of pressure in a vertical direction is equal to the weight density of the
fluid at that point (Chosen option)
TF SR foun & gard # gfg, 39 foig R @Ra uerd & oo o9 & SRR g1
(D) O Rate of increase of pressure in a vertical direction is equal to the mass density
of the fluid at that point
waf%afwmﬁaawﬁq@a 39 fig R R g & Soqdq™ 99 &
RN Bl

Question No.31 Marks: 1.00
Bookmark
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per head per day may be taken as litres.

1S:1172-1963 & AR, Hd YR fRufd & o w_e yaieH! /g ufa fom ufa safda &
forg SiTa=a® UMt BT dite” /T ST B

(A) O 175
175
(B) O 110
110
(C) O 135 (Correct Answer) (Chosen option)
135
(D) O 50
50
Question No.32 Marks: 1.00
Bookmark
Preliminary or approximate or rough cost estimate sanitary structure costs.
RIS T STHTT T RS (%) SJHM AN, RIS (T T Al
gt 1
(A) O does not include
Rz
(B) O includes separately (Correct Answer) (Chosen option)
3T
(C) O tentative
SSENICR]
(D) O sometimes includes and sometimes does not include
Fft-wuft it ofR wafi-geft R-=mfta
Question No.33 Marks: 1.00
Bookmark
Which one of the following is NOT a type of Cross Staff?
gl & @ SF-91 TP IR 37 (B9 TTP) 6T USR ol 82
(A) O French Cross Staff
IR T O (ha i W)
(B) O Closed Cross Staff (Correct Answer) (Chosen option)
g T[T I (TS B )
(C) O Adijustable Crossed Staff
1 4 (TSSRedd i Kh)
(D) O Open Cross Staff
Gl 1 A (AU b1 L)
Question No.34 Marks: 1.00
Bookmark

What is the distribution system described in the below image is?
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sM S SM
MaIN ’ o 1
—— . 4
o
sM S5 SM
8 ol B N = 8 +

—
SM=SUB - MAIN, B=BRANGH: s CUTOFF VALVE
I <t 7€ 3fa & aftfa faavor yomeht T 82
B a a B
i e -
. B r B 1 B g B ]
‘ bl : 2
SM SM SM
MAIN ) ’ T .
e -
M 5M oM ”
B ole B B s 8 -
—
SMzsug - MAIN | B=BRANGH: a CUTOFF VALVE
(A) O Dead End
3id forg
(B) O Grid Iron (Correct Answer) (Chosen option)
(C) O Radial
(D) O Circular
Question No.35 Marks: 1.00
Bookmark
In Aerial Photogrammetry where plumb line intersects photograph is called
point.
I BT (TRTA BIEHH) H, Sel W g Bleiih & Uidwicd Bl §, 3

fig T o1 5
(A) O focal (Chosen option)
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B) O swin‘g
e

(C) O nadir (Correct Answer)
3reNfdg urgfdg

(D) O principal
7o (i)

Question No.36

Presence of soluble salts in bricks causes .
gal o oo daun 1 Iufufa BT HRU I g
(A) O creep

(B) O fragility

AT (ShfFerc)
(C) O slump

AU ()

(D) O efflorescence (Correct Answer) (Chosen option)

Tpe (THFIRT-)

Marks: 1.00
Bookmark

Question No.37

Gunite is a mixture of cement and sand in the ratio of

TATEe ¥ Iura # e 3R ¥a &1 g g '

(A) O
(B) O
€O
(D) O

(Correct Answer) (Chosen option)

- A NN WW
ww AR AL LA

Marks: 1.00
Bookmark

Question No.38

With the increase in temperature, viscosity of a liquid:
A ¥ g & 1Y, T avdl B1 AT,
(A) O Increases
gl

(B) O Becomes zero

RIS
(C) O No effect

PIE UHTE el TS 3|
(D) O Decreases (Correct Answer) (Chosen option)

FH B T g

Marks: 1.00
Bookmark

Question No.39

In India, the first 20-year road plan was also called

Marks: 1.00
Bookmark
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(A) O Delhi Road Plan
faeeht Tga ior
(B) O Nagpur Road Plan (Correct Answer) (Chosen option)
AR TS FIoHT
(C) O Jayakar Road Plan
SIBR S et T
(D) O Bombay Road plan
I S AloT

Question No.40

What colour is the north line symbol?
TR T Ychiap (AT w11 Rytarer) 7 7 o1 §hell 82
(A) O Orange

Tt

(B) O Red (Chosen option)
SIS

(C) O Black (Correct Answer)
CaN]

(D) O Blue
i

Marks: 1.00
Bookmark

Question No.41

In the following figure 'p’ represents:

s
=
0
o C
[
i
o)
©
-
A
B.T
j
-« >
Avgy freen hacHill Tevards bacHill

Marks: 1.00
Bookmark
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E cC
iy
5
A
ET
:['
* Avagy freenbacHill Towar ds hackfll »
(A) O Passive earth pressure (Chosen option)
fAfsra gedt e
(B) O Active earth pressure (Correct Answer)
Afepy gedt g
(C) O Earth pressure at rest
U Y-qlq
(D) O Ultimate bearing pressure
TRH YIR &Te
Question No.42 Marks: 1.00
Bookmark
Which one of thg following is the principle behind the working of a turbine?
AR & ¥ ®F-11 SRE8 & BT &3 & Ul NGId 82
(A) O There is no conversion of energy
US| DT YR qﬁ el-l
B) O Conver3|on of mechanlcal energy into hydraulic energy (Chosen option)
Tite Sl B1 gIggifcred ol & uiRdfcd
(C) O Conversion of kinetic energy into pressure energy
Tt SHoll BT Ga1d SHoll § gRafad g
(D) O Conversion of hydraulic energy into mechanical energy (Correct Answer)
Solt 1 JifA®w ol § uikared g
Question No.43 Marks: 1.00
Bookmark

Which of the following failure occurs due to relative movement of flexible pavement layer
materials?

WWWW%W@E%WW&@Hﬁ%?ﬂW%
,

(A) O Map cracking (Correct Answer)
Y b

(B) O Shear failure
SR AT (R BeRR)
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A4 ﬂﬁ-
(D) O Longitudinal cracklng (Chosen option)
GRIR (Q'II"IICQS"IQ'I Cblfb‘l)

Question No.44 Marks: 1.00
Bookmark
latrine is a sanitation system specifically constructed to produce valuable
fertilizer for gardens.
ST (qifeHT) T Tresdl Yol & fordl fa=iy @ seftel & forg eaar

ISP BT IATG B g I Il g
(A) O Single Pit

Rivrer fue

(B) O Septic Pit (Chosen option)
fie
(C) O Compost Pit
FHHRE fie

(D) O Double Pit (Correct Answer)
gad fue

Question No.45 Marks: 1.00
Bookmark
A reservoir has uncontrolled and ungated outlets. It is a:

T SR H S SR fom e & 3sedie €1 98 U gl
(A) O Retarding basin (Correct Answer)
Ay qivlt (Rerf$w afkm)
B) O Multlpurpose reservoir (Chosen optlon)
G|§\‘5‘E'('2||q NNIRE2 (Hc’thq\)‘l I{\JION)

(C) O Storage reservoir
UG AR (TR RofaR)

(D) O Elevation reservoir

IAT STARMY (YT RoreR)

Question No.46 Marks: 1.00
Bookmark
For determining dissolved oxygen content, the most commonly used analysis is a wet
chemistry method referred to as the method.

faafed siferiior TRl &1 MuRRur B39 2, To9 3ifie ST fbar S aTen figevy ue
T (@) TG fog fafy 8 fafy g wTar |
(A) O Roger's
RO
(B) O Johnson
EIENE
(C) O Tittler's
[HESSR
(D) O Winkler (Correct Answer) (Chosen option)
fdeer

Question No.47 Marks: 1.00
Bookmark
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%ﬁ$wﬁmﬁm§u%aﬁaﬁaﬁw$wﬁ Hel Sl
|

(A) O plane surveying

H HA&IUT (Yl HAIUT)
(B) O geodetic surveying (Correct Answer) (Chosen option)

TAIOT (TS TI&T0T)

(C) O true surveying

[ qa&f0
(D) O trigonometric surveying

e

Question No.48

For a fluid, volume per unit mass is known as

e avd Uerd & o, ufd 318 gouH &l JE &l P EU T S R

(A) O specific volume (Correct Answer)
STAd
(B) O specific gravity
Y1d
(C) O density (Chosen option)
YId

(D) O pressure
QY

Marks: 1.00

Bookmark

Question No.49

Most suitable method used for drilling boreholes in hard soils or soft rock strata is:

319 gt a1 A g H IRE 3 $RA o1 Jad Sugad AT 6:
(A) O Auger boring
TR &R
(B) O Percussion drilling (Correct Answer)
Tfedre UaeH (WRHRH f$fei)
(C) O Rotary drilling (Chosen option)
goif TeE Riext fefeim)
(D) O Wash boring
arar

Marks: 1.00
Bookmark

Question No.50

Sequent peak algorithm is used for:

e Wi TRIINYH BT T & foTe fosam ST g1

(A) O Computing stream flow
YRT UaTg b1 UM

(B) O Computing delta
STl I UM

(C) O Computation of reservoir capacity (Correct Answer) (Chosen option)
ST Pt &FHT D1 0T

(D) O Computing irrigation intensity

Marks: 1.00
Bookmark
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Question No.51 Marks: 1.00

Bookmark
Which one of the following laboratory methods is most suitable for the determination of
coefficient of permeability for a fine-grained soil?

Frafaiad & 9 oH-3f vaim=er faf) T 76le T are g & fie uremdr (e
& Ui & MR 3 e IUged 87
A O Constant head permeability test

B Rl e

(B) O Triaxial Test (Chosen option)
Brareha gdier (erufRd <)
(C) O Pumping in/out test
GfEHT 37/ 313¢ ¢

(D) O Falli_ng head permeability test (Correct Answer)
I 58 IRHITIIICT ¢ve

Question No.52 Marks: 1.00

Bookmark
The angle by which the forward tangent deflects from the rear tangent is called the
angle of the curve.

I8 DIV oI gRT 3 WA, U W § RANT G, ap 1 I deaiar g
(A) O tangential
IR

(B) O deviant
Aot

(C) O direct
Rt
(D) O deflection (Correct Answer) (Chosen option)

Question No.53 Marks: 1.00

Bookmark
The process in which dilute solution of Sodium Silicate is applied to timber to give it
resistance to fire is called

WWWQW 3T 1 TRy 3 & RIT et TR ST S &1 59 v
T SIIel &
(A) O special chemical process

o=y Yamaf=e ufshar

(B) O timber Fireproofing
ferR
(C) O charring (Chosen option)
STETRM (ATRAT)
(D) O Sir Abel's process (Correct Answer)

IR TIA Bt Ufhar

Question No.54 Marks: 1.00

Bookmark
The estimates preparedby _ method is most accurate and quick.

fafer gRT SR U 1T AN T Ty 3R ik 21 B
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&g @ (Hex d1gH)
B) O partly cross wall
3t HIY did
(C) O cross wall
EIRKCIN]
(D) O long wall short wall
el SIaR BIC SlaR (@11 afd e ara)

Question No.55 Marks: 1.00

Bookmark
The depth of the sedimentation tank should be between

3gTe (AfSHIIMA) T B TERT 3 %aﬂasﬁﬁ%ﬁ%m
(A O 1.1m,1.7m
1.1, 1.7 9
(B) O 2.4m, 3.6m (Correct Answer)
2.4 1, 3.6 |
(C) O 5.5m, 7.5m
5.5Hl, 7.5 |t
(D) O 4m, 5m (Chosen option)
44t 5H

Question No.56 Marks: 1.00

Bookmark
is the process by which home water systems such as wells, springs, and
cisterns are disinfected using household liquid bleach (or chlorine).

g 9fshaT ¢ % arT oo, maﬂ?ﬁﬁﬁaﬁmwwﬁ@ﬁ
TR R &t (A1 FARI) BT SUTNT FHRabp B ICTURed fardT ST g
(A) O Shock Chlorination (Correct Answer) (Chosen option)
STETd (RTT)
(B) O Fluorination
FARIARH

(C) O Bleaching process
fa¥er ufsban

(D) O Rapid purification
EGIRILE]

Question No.57 Marks: 1.00

Bookmark
Maximum stress in concrete by code is restricted to

HIS GRI dhebic | SHdH T1d (¢H) e Wd gl
(A) O 0.67f; (Correct Answer) (Chosen option)
0.67f;,

(B) O 0.447fy
0.447fy

(C)O 0.87fy

(D) O 0.53fy
0.53f

Page - 50




Question No.58

A relatively permanent point which is the basis for all measurements in levelling is called

T senmd i g of ohae @afim s A wi A promeR 8 ed

EIASIGIE

(A) O mean sea level
T THE ad

(B) O ground level
ST ®R

(C) O bench mark (Correct Answer) (Chosen option)

(D) O reduced level
HH IR

Marks: 1.00
Bookmark

Question No.59

Span/ effective depth of a cantilever RCC beam is

TP TGERA (HTetiaR) RER i o) o /v

(A)O 9
9

B) O 3
3

(C) O 5 (Chosen option)
5

(D) O 7 (Correct Answer)
7

gl

Marks: 1.00
Bookmark

Question No.60

Which of the following is a regulatory sign?
frafifed & @ oF e fafame ded (el 98) 82
(A) O Facility Information signs
e g1 o Hohd
(B) O Step Ascent/Descent
LU TGS / G

(C) O Direction signs
Thd (STORERM I1EH)

(D) O No parking, No stopping (Correct Answer) (Chosen option)
PIS T T8l AP T8l

7

Marks: 1.00
Bookmark

Question No.61

Ly

The limiting depth for neutral axis

',d -

Fed15 o oIy qoT afay %ﬁ@hﬁ—dm—%l

YLLE )
—forFedl15is

Marks: 1.00
Bookmark
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0.479

(B) O 0.531
0.531

(C)O 0.456
0.456

(D) O 0.372
0.372

Question No.62 Marks: 1.00
Bookmark
Indian Standard specification for coarse and fine aggregates from natural sources for
concrete is also known as .
ehepic o 1Y i Aldl 9 Hie 3R HeH 9= (Wiied) & fie yRdla AFe fafda
&I & = T ot SIS g
(A) O IS 383 (Correct Answer)
IS 383

(B) O 151343
IS 1343

(C) O 1S 800
IS 800

(D) O IS 456 (Chosen option)
IS 456

Question No.63 Marks: 1.00

Bookmark
Which of the following is TRUE about the soil improvement method of compaction?

e & ¥ SF-91 HUF Fo-H (GIaRH) & Jel GUR & aR H 9al 87
(A) O Compressibility of soil is increased
& e g¢ T Bl
(B) O Soil is fully saturated
el 48 IRE 9 U« 81
(C) O Densification of soil is due to expulsion of pore water from the voids

a1 B g=HaH, Rfad 9 71¢ Il & MBI & SR B 8l

(D) O Densification of soil is due to expulsion of air from the voids (Correct
Answer) (Chosen option)

e &1 g-tyad, e ¥ arg & s & s gar 81

Question No.64 Marks: 1.00
Bookmark

The resultant compression forces in concrete and compression steel respectivelv for a doubly

reinforced rectangular beam is (width of the beam = 0 _ depth of neutral axis = ';,, Area of

compression steel = A, Stress in compression steel = f_,_.(‘ )]

TS elgY Udfeld 3IdIR d1F & [0, Srehie 3R gdsa T8 & wHel: IRumEr ddi5d ad
(g FESTS = by, TEEA AT IS = 2, TS TENST FT GBI = A, Fhgel TEror a7
deid = f:‘ec': )
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WL g LT WL

0447 fub, Al foe — 0447 fop)

B)O

O'Bﬁzfckb-"vm Asc(}(ar - 0-44"?}(.{:&)‘

C©) O 0447 forby, Aselfoe — 0.362f.) (Chosen option)

0.447 farbza, Asol fro — 0.362 o)
OO 0.362f. by, Aselfor — 0.362 fr)
0.362 ferbay, Ase{fse — 0.362 fir)

0.362 ferbvy, Aselfse — 0447 foy) |(Correct Answer)

Question No.65

Which of the following is a type of base of steel structure?
fFrafeRed & ¥ SH-91 ¥id WRe1 & YR BT UF YHR 82
(A) O Separate

qJme

(B) O Continuous

AR

(C) O Slab (Correct Answer)
e

(D) O Rafter (Chosen option)
R

Marks: 1.00
Bookmark

Question No.66

Westergaard’s stress equation measures

IS T AT FHIGROT A9 &

(A) O pavement load
Beury die (UaHe diS)

(B) O wheel load stresses (Correct Answer)
qfEar UR 9919 (1 s 1)

(C) O pavement stresses (Chosen option)
PeUry d-1d (UgHe H)

(D) O pavement friction

Peur gyur (Uadce fTharr)

Marks: 1.00
Bookmark

Question No.67

A narrow track, prepared along the alignment of hill road for inspection during location of

the road, is known as .

ASH DI TIHIE P SRM RIS P (1T USTS! USH & WUl & Y TIR Th YT ¢,

EL =Y H ST S B
(A) O camber
CELINGRERY
(B) O trace cut (Correct Answer)
I Fe

Marks: 1.00
Bookmark
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YT daTs (R d)
(D) O sight distance (Chosen option)

Question No.68 Marks: 1.00

Bookmark
In a reservoir, useful storage is:

T Sy (Refar) #, Iuaidt ©Re &:
(A) O Maximum water level in reservoir during worst design flood
Apyay fEom a1 (o fSTg vas) & 99g SaR™ § UMt &1 ifisad TR
(B) O Maximum water level in reservoir during normal operating condition
T SR HSIRM & R SR H G S
(C) O Volume of water between maximum and normal pool level (Chosen option)

fIHaH R M U dad & ard UrT BT I

(D) O Volume of water between minimum and normal pool level (Correct
Answer)

AaH SR T Gd A9e & S I BT SR

Question No.69 Marks: 1.00

Bookmark
What is the second highest constituent of cement, by percentage?

gfa=rd & R § e &1 g1 9y 981 U HIH-91 82
(A) O Lime
NIER!
(B) O Alumina (Chosen option)
T
(C) O Iron Oxide
A SMNTZS
(D) O Silica (Correct Answer)
faferet

Question No.70 Marks: 1.00

Bookmark
The prestressing in which the centroid of the tendons coincides with the centroid of the
concrete section is called prestressing.

U USRI o USRI & B (C8-H & YcRISS), hebic YoM & Hclse I TNl g,
TR wger gl
(A) O concordant

PIDRSC

(B) O axial (Correct Answer)

(C©) O ecc_entric (Chosen option)
(D) O full ’
Dd

Question No.71 Marks: 1.00

Bookmark
What are the two types of gravity filters?
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(A) O Membrane filter and slow sand filter
freett fheey SR e X ftheey

(B) O Membrane filter and rapid sand filter

fereett flheex SR doft ¥d fheey

(C) O CGravel filters and sand filters
TR ftheer SR X4 ftheey

(D) O Rapid sand filter and slow sand filter (Correct Answer) (Chosen option)

¥ fpeex SR He ¥ fbeex

Question No.72

The fraction, which is multiplied with the quantity of total rainfall to determine the quantity

of rain water, which will reach the sewers is called

37T, ﬁ@wwﬁwﬁﬁ%W%%ﬁwwﬁwﬁwmw% EIRIER]

THUGASIUN, S Dyl Sl gl
(A) O catchment coefficient
Fatic TodH
(B) O sewerage coefficient (Chosen option)
BIERERIVICY
(C) O runoff coefficient (Correct Answer)
3[Udrg TUIieh
(D) O rainfall coefficient
CRIRILIGY

Marks: 1.00
Bookmark

Question No.73

Name the instrument in which microwaves are used instead of light.
3G U BT A IA5U SIS UBTRN B! IOl HISehIdd bl SUANT fobar el 1

(A) O Tellurometer (Correct Answer)

(B) O Retrometer

Yo

(C) O Microwave survey meter (Chosen option)
A& Hiex
(D) O Radiometer

Marks: 1.00
Bookmark

Question No.74

Which of the following is NOT a method of preparation of approximate estimate?

Fafiea & @ o1 S (RUE) SFHM B qIRT BT TS RIS ol 57
(A) O Unit base method
TP YR (GfTe 39) fafy
(B) O Plinth area method
iy & fafar
(C) O Cubical contents methods
T (Fgfadhe) T fafd
(D) O Volume estimate Method (Correct Answer) (Chosen option)

ATAT/3MA (diegd) A fafy

Marks: 1.00
Bookmark
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Question No.75 Marks: 1.00

Bookmark
The markets and centres of production within a district are connected
by .
foralt fo1a & 3feR fyd IR 3R STeH &g IS B g
(A) O National Highways
(B) O village roads (Chosen option)
UTHIT HSh
(C) O other district roads
3= forell ot TSdbi
(D) O major district roads (Correct Answer)
ford 91 g1 as@l
Question No.76 Marks: 1.00
Bookmark
Which one of the following is TRUE for the alignment of watershed canals?
fFrafeied & ¥ -9 B dfexds T & Waw & forg Tet 82
(A) O In alignment of canals along the watershed, there is no use of gravity
JICTS & 1Y A8 &b TRWUT &, u%aTa?&“Uraﬂ D5 STANT 81 5
(B) O Alignment of canal along watershed increases the cost of construction of cross-
drainage works
JIeIRAS &F WY T & I/ J HIG-g-o BT & A0 Bt AT §¢ STl g
(C) O Canal should be aligned along the ridge line (Correct Answer) (Chosen
option)
TR @I o1 w18 & A1y WA« foan s At
(D) O In canal alignment along the watershed, drainage flows towards the ridge
xRS F 1Y TeR W@ §, 51 et Rl 3} 3R a5 31
Question No.77 Marks: 1.00
Bookmark
Which of the following is NOT a two way Reinforced Footing?
FofRed & § H-91 e, &l IR ¥ Haferd Bl el 87
(A) O Combined Footings
PSS Pic™
(B) O Isolated Column Footings (Chosen option)
IZIkIcS Pliad Hicw
(C) O Wall Footings (Correct Answer)
qid
(D) O Centinuous Footings
Question No.78 Marks: 1.00
Bookmark

Fora doubly reinforced rectangular beam section, total tensile force in tension steel is: (Area of

tension steel = Aspo. stress in tension steel = Jas Tu <= Laaniir )
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ElBY Fafeld AR 1 AT & o1, et Tere #H el dodl AIferd &

(éﬂ]?f TETel ShT &1Ah e = A el Tl H dATd = f“»["gr Ly = Tyanas )
(A) O 0.87fyA¢t (Correct Answer) (Chosen option)
0.87fyAst
(B) O 0.2A4f
0.2A4fst

(C) O 0.36f,Ag
0.36f,Agy

(D) O 0.447fAg
0.447f Ag

Question No.79 Marks: 1.00

Bookmark
Which of the following is NOT a sewage pump?

frafaRad & & ®9-91 T diaw uu 181 87
(A) O Sump pump (Correct Answer)
AT () T
(B) O Centrifugal pump (Chosen option)
gy
(C) O Air Lift pump
R feroe um
(D) O Reciprocating pump
upe

Question No.80 Marks: 1.00

Bookmark
The ratio of effective length of a compression member to its lateral dimension is known

as .
W%ﬂawﬁuﬁﬁa@wmmﬁwﬁw & U H M
SIdr gl
(A) O stiffness
HORAT (REBH)
(B) O slenderness ratio (Correct Answer) (Chosen option)
AT SIUTA (Tl S<w YRra)
(C) O shear constant
SR Fadi (RIR dRee)
(D) O effective length factor
g} TS HRS (3hided Ay TaeR)

Question No.81 Marks: 1.00

Bookmark
are often glazed and molded to shape of a gutter to function as drains.

SIC & U H &1 & & g DI ARR TP TR $ MBR T IR 3R
STl STl B
(A) O Coping bricks

DI forerq

(B) O Drain bricks (Chosen option)
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(C) O Channel bricks (Correct Answer)
EEGAEEGE

(D) O Bullnose bricks

Question No.82 Marks: 1.00
Bookmark

In the distribution system for canal irrigation, distributaries generally have the discharge

Wm@%mwmﬁ faafearall (fsxiegdion & oM dR W
1 Fdg (s grar g1
(A) O 100-200 cumec
100-200 FHH
(B) O 50-100 cumec
50-100 FIHD
(C) O <30 cumec (Correct Answer)
<30 FHD

(D) O <2.5 cumec (Chosen option)

<2.5 FODH

Question No.83 Marks: 1.00
Bookmark

Contour lines can cross each other in the case of a/an
T X1 U gux &l %mﬁﬁmm)mﬂﬁ%l
(A) O lake

(B) O verticle cliff

Gl e
(C) O overhanging cliff (Correct Answer)
T

(D) O ridge (Chosen option)
oo

Question No.84 Marks: 1.00
Bookmark

Which of the following is the laboratory test for the determination of shear resistance of
soil in which confining pressure is kept zero?

St & eroegur wfRiy & FaRor & forg Fafoiaa & 9 a1 ue yanTmar udteor § o
aRRiet ST R <@ T g
(A) O Triaxial test
EEfIREEN )
(B) O Direct shear test
Y&l 3UR™YU URI&T0
(C) O Unconfined compression test (Correct Answer)
o Hdts T wliem
(D) O Vane shear test (Chosen option)
I SU=YUT TRI&f0T

Question No 85 Marks: 1 00
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Name the clay that is derived from volcanic ash which contains the mineral
montmorillonite and also has very high values of liquid limit.

39 g BT AW T3y, S SaTaE@d I ¥ Fdadr 7, o wihie dicariae § ¢k
ST TRl WA S Sgd 3ifeiep 7 (3e) §1d €
(A) O Colluvial Soil
Piciaay gl
(B) O Glacial till
ferca Qe
(C) O Hard Pan

(D) O Bentonite (Correct Answer) (Chosen option)

Question No.86 Marks: 1.00

Bookmark
Recommended sizes for doors and windows come from IS

IS T R IR RAehedl ¥ 1T SRR SMTeR S
(A) O 750
750

(B) O 1003 (Correct Answer)
1003

(C) O 880 (Chosen option)
880

(D) O 1208
1208

Question No.87 Marks: 1.00
Bookmark

In levelling back, sight is also called as

dafeT 9% ¥, 2P (@ge) & 1t g1 SI1aT g
(A) O reduced level

F a1 g R (Regy oaq)
(B) O benchmark (Chosen option)

CEEICY

(C) O plus sight (Correct Answer)
@ TR

(D) O minus sight
ST T

Question No.88 Marks: 1.00

Bookmark
A fluid is flowing through a pipe. At two points A and B, total energy head is 82 m and 98
m respectively. Find the direction of the flow.

T dRa Uerd T UIsy 3§ 98 38T 21 A 3R B o figel W, oot i Suif (ol 8) o
82 Tiex 3iR 98 TR §1 vaTg @1 f=m Ird S
(A) O No flow
IS YaTs Ta!
(B) O Ato B (Chosen option)
AT B

(C) O Cannot be determined
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(D) O B to A (Correct Answer)
BIA

Question No.89 Marks: 1.00
Bookmark
Mud pumping depends upon:
Fras Uit (TS ufein) g w ik w=are:
(A) O Temperature
GICLIE!
(B) O Type of subgrade soil (Correct Answer) (Chosen option)
i gt & yoR

(C) O Spacing of joints
EISERNES]

(D) O Type of joints in pavement
Bouly H Slisl &l UbR

Question No.90 Marks: 1.00
Bookmark
Finishing of mortar joints is done through

TR SarTy 1 aRwHRu (R F e & R o 21
(A) O plastering
TR

B) O poipting (Correct Answer) (Chosen option)
(C) O varnishing
IR

(D) O painting
g

Question No.91 Marks: 1.00
Bookmark
In bridge cost estimation, what is the name for structure over foundation?

U AN SfTha B, Jol TR (TR SiaR BIESTH) & forg Fr A 872
(A) O Check 'Structu\re
Y AT (AP LFNR)

(B) O Pier (Correct Answer)

Tgay (4R)
(C) O Superstructure (Chosen option)

(JURCFR)

(D) O Suspension

R (YUTF)

Question No.92 Marks: 1.00

Bookmark
The roots of trees if any shall be removed to a minimum depth of 60 cm below ground
level or a minimum of cm below formation level whichever is lower.

e forddt U ot S8 ST TR 60 YHIex =a TeRTs R a1 FHHfor Wk ¥ <maq
Fitex 1 Bt €, 37 oM § O S off 5w g1, 1 ger e S
(A) O 30 (Correct Answer)
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(B) O 20 (Chosen option)
20

(C)O 40
40

(D)O 50
50

Question No.93 Marks: 1.00

Bookmark
Short columns fail in

Y WY (ATE PHiaH) 7 fawd gia g1

(A) O combined crushing and buckling
AT 3R PRAT & RS

(B) O crushing only (Correct Answer) (Chosen option)
Had BT

(C) O buckling only
EEREESIU]

(D) O bending

Question No.94 Marks: 1.00

Bookmark
When the uphill climb is extremely long, it may be desirable to introduce an additional
lane so as to allow slow ascending vehicles to be removed from the main stream so that
the fast-moving vehicles are NOT affected. Such a newly introduced lane is also called
lane.

S SR B 3R TGTS 98¢ aal glal &, d HfaRead T BT IR= BT aio-1g 8 IbdT &,
iy il 71 ¥ dgd arg-l &I GBI URT Y SR Sl Yob TS89 ool Tid Y e died arg+
THITI 7 8T 1 S ORE BT 718 L& P18 O Bl o oft FgT 1 B
(A) O extra

TRl
(B) O service

BIG

(C) O creeper (Correct Answer) (Chosen option)

EJL
(D) O emergency

Question No.95 Marks: 1.00

Bookmark
Which of the following shows the general topography of the area?

Frafefed 7 S 7 39 &7 & IHRT R (SR SUTdh) Bl gifar 32
(A) O %gér‘?ap

(B) O Intersection plan (Chosen option)
SR WH

(C) O Index g_;p (Correct Answer)

(D) O Section plan
SIE]
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Question No.96 Marks: 1.00
Bookmark
Which one of the following is the design criteria for the design of earthen dams?

g o ¥ w-a1 Rt & oty @1 fesis o1 foomg ards 22
(A) O There should be no spillway
IS Saaa AR (Ryerd) et g =gl

(B) O There should be no possibility of free flow of water from upstream face to
downstream face (Correct Answer)

YIS (SMTREH) B I SR (SIWATE) W aF U & W1 Tl Bl Bis
JHTGAT T8l siH1 FMeTl

(C) O Aill of high permeability should be used
I URITHIGT dTcl! U UaRT 1 digul

(D) O The seepage line should be above the downstream face of the dam (Chosen
option)

WO A8, SH & SETRIH B & SHW gl AUl

Question No.97 Marks: 1.00
Bookmark
According to the process in theory of blasting in tunnel engineering, how many types are
used for rock blasting?
TR SO H SRS o RIGid | Ulehal o SR, fhdd TR i TS Sl
ST Bt 872
AO 7
7
(B) O 4 (Chosen option)
4

(C) O 5 (Correct Answer)
5

(D)O 3
3

Question No.98 Marks: 1.00
Bookmark
In which of the following road plans, target road length was 16km per 100 km? in India?
fFufafad o O fou gso sk §, YRa § 80 US® &1 daTs 16 fhdt ufd 100 feHi2 o2
(A) O Nagpur Road Plan (Correct Answer) (Chosen option)
ANTGR HS Gl
(B) O Bombay Road Plan
I ISP AIoH]
(C) O Lucknow Road Plan
TGS, ISP TSl
(D) O Chennai Road Plan
EEERSERI R

Question No.99 Marks: 1.00
Bookmark
‘Perspective’ is derived from a Latin word which means

qeffaee afeT w3 foram mam Ws & ForgeT 3 |
(A) O openup
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(B) O divide through
fSarge Y a1 & areaw ¥ fquIiord &=
(C) O close up
YT &g HhRAl
(D) O look through (Correct Answer) (Chosen option)
TP Y AT ST

Question No.100 Marks: 1.00

Bookmark
Which of the following is NOT a method to measure horizontal angle by a Theodolite?

Wﬁﬁﬁ-@wﬁﬁmmfﬁ@@mm &ferst o of AT b fafer e
?
(A) O Traverse method (Correct Answer)
Aed/Gad (cau) fafy
(B) O Direction Method

fe= fafer
(C) O Reiteration Method (Chosen option)
fafey

(D) O Repetition Method
fafe
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